1.

@ 3

s

VG ax? + bx+c =0 o] A2 of

= =
= T

FoI YA D =6 - 4(=5+2k) > 0

-8k > —56
cok< T

2ol P £ 8> 7 0|BE AT

52

o}

Aol 2& 7™




*H2?

I i P

=
=

o

0

X2 -8x+9-k

@ 17 ® 25

®7




17 17

> I

® k> 147 @ k> 147
R < -

@Yk < 1 ® k< 1




ol
B91?

D k>4

@ k<4

Al
A

k2 +4x+1 =009 AR o=

@Dk < 4

® -4<k<4

T




5.

o

OJZPTAA ¥ +8x—4 =05 (x+a)’ =b I EE 1E 0, a+b 9
Zre9

® 20 @24 ® 28 @ 32 ® 36

B ~

¥ +8x-4=0
(x+4)2-4-16=0
(x+4)2 =20
a=4, b=20
La+b=24




D 5 @)1 ® 9

P 4+4x-1=0
2 +4x=1
(x+2)2=5
La=2,b=5

La+b="7




OJZPTA A 3x? —6x-2 = 0 & (x—a)® = b &) E= e wf, 2443
o] 327

® 3 @ 4 ® 5 @ @

.'.2a+3b:2><1+3xg:2+5:7




pq & #h= FSHA? (2, p, g = 5olH)

@3 @45 O @4 sl

(x+7)(x=5)=7 x*>+2x-35=7
X2 +2x =142, (x+1)* =43

p=1 g=43

. opq =43




D x2-2x—4= @ 2x2-5x4+3=0
@x2—4x+5:0 @ x2-4x+4=0

® 3x2-10x+5=0

B
WA D < 0 o] o A]9] 17} {ick.
®§:1+4:5>0
@D=25-24=1>0
@%:4—5=—1<0

D
@4 0

D
@2225—15:10>0




10 th olApgA o)A 29| A7t ohe shie?

@D 2x24+5x-2=0 @ 3x24+7x-2=0
@ 2x2-3x-1=0 @x2+2x+4:0
® (x-2)2=6

@%:1—1x4<0:—201 ot
U 2= o] 2 7)ot




11. o5 olZPEA 4 FollA a7 gle A7

D 4x2-12x4+9=0 @x2+2x+5:0
@ 2x2-4x+1=0 @ 4x2-7x+3=0
® 6x-5x2=0

@D=22-4x5=-16<0




12.

O|AHFAA] x2 —4x—12 = 0 9] 2] H4E ah, fx -2x+4=0

o MNFEbMNE L W, a0, b ETCLE =X +prx+g=09
=+ & FoHH?

2 —4x-12=00°lA (-4)2+4x12 > 0 °|B& g = 2 o|t},
%x2—2x—|—4:0 ol A (—2)2—4x}1x4: 0°]2& p =1 0|t}

2,1 & 2= o= FAHAS FoHH (x-2)(x-1) =0, »* -
3x+2=00°]2 29 5= (-3)2-4x2x1 > 0 °|B= 2 7T},




13. HOZRE 50m HE EoldA dA&H EA9 r £ %9 EolE h
gt S, ti‘rh Atolofli= h = =512 + 151 4 50 1 A7} A= gt
o] 24l ¥ x Fof Wof @ojz] =717

52 4+15t+50=0—>1-3t—-10=0
- (t=-5)(t+2)=0—>t=-2, 5 °|BE&2
wabA ¢ = 5(¢ > 0) ©Jt}.




A HA A 245 30m 2 BA & A4 9] r = 9] %O|7} (301 - 5)m
21 & off, EAE 94 221 A A Hel Bojz=d A= Azt

29

O 2
@ 5

P
-loll

3

)
s

B
i
PO
Job ot
®
I
B
i

B

A Hol old uf ] Eol= 0 o]ER
30t—5t2=0,12-6t=0
t(t-6)=0,r=0, 6
t>09|BE2 =6




15.

Ao A 24 40m O] £ &2 Kol &9 B4 9] r = $9] EolE
2t & o, h = 40r - 5 otk EA|7} AHof Hofx|= Z2 Aof
A W 2 77

Os5zx% @6x% @rx%
@szx ®9z%F

8

el Bojzl= A2 Eo]7h 0 & wloH
0=40t-52, 2-8t=0—-1(t-8)=0
t>00]B&2 =8

L8ES




16.

go 2R H ol 15m Hi tholyajel A £ 4471 918 Fel 25
27m 2 TS At & 2 F £GA4T Ao EE o] WoA9)

L 2ol (=3x% 4+ 27x + 15)m 2t & uf, £ A49] &0]7} 57m
7t = Aee Us A0

—3x% +27x+ 15 =57
3(x*—9x+14) =0
3(x-2)(x=7)=0

x=2,7

A Y A2 7 & oftt,




